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1. (A8 (Efr: M)
1 |77Az=2%vkHwBit 4,879,150
2 | 7anz7RtEa 1,682,400
3 |7xUARtEH 23,096,375,050
4 (7Y RSHR+FE 29,058
5 |7ErFuRtFE 4,382,045
6 |7 x=THRtFEH 102,874
7 |F—Z 5V TRt 2,180,588,839
8 [F—Z LY THK+FH 496,774,402
9 |[TEANAD v RFAM 13,453
10 |\ R+FH 405,200
11 [(Nvo5Fv kAt 8,681,211
12 [RIL—vaRtFit 3,481,200
13 | NLF -+ 129,623,606
14 [RNY—=XFR+FH 779,896
15 [RUe7kt+z4d 104,429
16 |[RR=Z7 - ~LY I F RT3 11,597,299
17 (77 okt 13,234,664
18 |4 ¥V =RF+F4t 1,834,380,375
19 [ZHY 7HR+F4 14,926,315
20 |ZFF 77y kR+EE 1,464,945
21 |AvHRITHR+FH 1,584,772
22 | hFEKtFEH 4,027,776,967
23 | FUFK+FH 14,779,794

hEL+FS 904,038,322

24 EBXE 1,669,068,154
< hAZEB 44,305,000

25 |[amre7kt+zd 1,277,721
26 | v oEBER+FH 175,098
27 |3R& Y hFxt+FH— 11,889,223
28 |7 a7 FT7HR+FT 85,775,140
29 (¥ 7°0xk+Fit 5,618,812
30 |Fxzakt+Fi 47,342,500
31 TR —URTFH 53,362,250
TR —UFK+FHE (7o —#EERTFH) 681,500

32 | R Iz HhHEMEK+F4 335,291
33 |Z/7 FLkt+Fd 2,590,860
34 |TRFZT7HR+FH 3,302,936
35 |74v5v R+t 119,570,000
36 (75 2Kk+Fit 1,850,669,146
37 | oTR+Et 4,031,550
38 | FAvVHEt+FH 3,335,437,740
39 |FrvadxEk+E 367,398
40 | HY —FR+Fit 6,688,594
41 |74 25 v R+t 19,113,287
42 |4 v Rxy 7HRt+F4 79,118,244
43 (14 kR AT 7,653,000
44 [7A L5y Rix+Fat 65,045,681
45 (4 2V 7HRtFH 446,934,713
46 |V v <A hkRt+FL 45,034
47 |[B8R TS 8,090,000
48 | KEKR+F4E 2,977,101,031
49 |5 H ZF+F 636,563
50 |5 FETHRFZH 18,391,430
51 |V FT7ZT7HR+FH 12,205,182
52 |vot v T ktEit 23,705,000
53 |*4 F=7x+F4 1,529,982
54 |[wL—>7HFAL 370,787,362
55 |[EAYTHRITAM 2,718,135
56 | X ¥ akt+F4 72,535,786
57 |2/ 0%y T7H+FE 8,223,912
58 |EFak+zit 5,156,582
59 |EvILkt+EH 12,301,960
60 |EVTFRIOR+FH 956,661
61 |Tvrv—FKt+tFH 4,309,161
62 |F/—LFt+FH 3,580,216
63 (#3542 Kk+7it 752,925,547
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64 |Za2—Y—F v Rk+=zH 57,809,560
65 |=HTITHR+FEHR 200,527
66 |/ —Kkt+FEi 161,780,204
67 |RF2L2VKEFBAH 8,340,626
68 |/XTHK+F4t 2,428,894
69 |[/SLRFFRIFTAM 840,563
70 |/SF<FkF2t 1,092,949
71 | RIL—FR+FH 2,519,291
72 |74V ErRtFT 167,000,000
73 | R—F v FkRt+F4H 12,420
74 |HL R HLFR+TH- 6,169,630
75 |hx—LFEFEAL 67,526,838
76 |- =T HRTFE 11,443,454
77 |RYTkR+FEH 163,836,124
78 |7V RE+FH 8,183,902
79 |ZAH AN RLKR+FH- 3,258,180
80 |HETHK+FH 1,752,769
81 |H>~ U /K+Fit 1,017,100
82 |wreTHk+EHt 191,253,450
83 [y v AR—LK+FH 817,708,385
84 [zAaNFTFHR+FH 2,872,219
85 |xA~RZ=FHR+=it 19,304,221
86 |m7 7Y AKRtFit 10,829,000
87 |=x~Avk+Eit 416,304,782
88 |2 UZvAKRtFM 395,169
89 [xwz—Frikt+zit 51,600,000

90 |RA RF+FH

1,999,210,672

o1_|BEA T

7,027,360,958

92 | %A F+FH 748,707,214
93 [rrHk+Eit 11,534,778
94 |FUZZ—F - bAIH+FH 5,999,459
95 |wHY R+ 108,047
% |VI T4 FKR+FH 7,100,000
97 |77 7EaRERFAL 15,968,619
98 |VILTTAFK+FH 1,872,938
99 [(NNXTVKRt+FH 297,234
100 [Nk F LFKR+FH 608,584,747
101 | ML akEmBH 14,086
102 |77 U—K - EY - X5 LEHE 8,376,000
103 | ~JL ¥ —AfFEEERIR 9,107,700
104 [BINEERNEENB 943,464,578
105 |74L5 > RBUF 121,450,000
106 (74 BXHe 245,975,395
107 |=2a—>Y—5 > FBUF 60,730,000
108 |7 = — FBUT 157,420,000
109 |x& 78X - =7/ 3XEH 20,212,500
110 |(EBKR+F - RrALER 4,902,319
111 [EBR+F - mAER EEEEH 232,932,738
112 [BA. £, ZoOmoER 854,302,995

2. BHOBEIMEENTLZE

60,148,352,882
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a5t (1+2)

&5 (1+2+3)

P

1+2+3+4

60,148,352,882
40,066,027,141
100,214,380,023

0

100,214,380,023




